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OPTION-A
( Macroeconomics )
Paper : COM-HG-2016

1. Answer any ten of the following questions :
. _ 1x10=10
woTe WAl eEIRS e weblq Ol fdl ¢

(@) What is meant by ‘circular flow of
income’ ?

‘T SER [T A e

() What do you mean by effective
demand ?

A wifzwl i & el

(c). What is static economic analysis ?

fom wieftafess Resadt fe

(d) What is meant by aggregate demand ?
Afers oifear AT 62

(e} Draw a Io‘ng-ruﬁ aggregate supply .

curve.

- QIS ANEE @A @A GO G 41|
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i

(9)

e

(1)

0

(k)

()

What does a vertical IS curve mean ?

- o o IS (1R T gwEe

State the condition of equilibrium in

the money market.

@ TGRT SIETON 5O Sy 4|

A contractionary fiscal policy is anti-
inflationary/anti-recessionary/neutral.
(Choose the correct answer)

FRETIES R e Jerife-Red /e
R/ Faes =) (o CGICo! AR F9)

Define frictional unemployment.
TR AR Ficesl |

What is meant by sacrifice ratio ?
wpia-eeS. I 6 gEe

What is meant by open economy ?
& i I A & g@me

Define exchange rate.

R 2= wigs Wl
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(m) According to Keynes, demand for money

arises out of motives.
(Fill in the blank)
(PR Ao, YW BfRm . wfeRm oF

Sgo =l . (R AT oy )

(n) What do you mean by liquidity

preference ?

oiTey i e & @

(o) Name the economist who developed the

concept ‘liquidity preference’.

“olFe F1Me’T LREITH! SeRCERI SRR Gae
DIERGEIN

2. Answer any five of the following questions :

2x5=10
ot Al eMtie Rz sisbre Ses fam

(@) What are the determinants of effective
demand ?

T SR RS B e
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(b)

(c)

(@)

()

How is the LM curve derived from

money market?

IGI TGS LM (FRICIE (AP SRS T =2

Distinguish between demand-pull

inflation and cost-push inflation.

oifEwl eelife JEFFIS o TeAle JaE S

- TP e AL (el |

What is Phillips curve ? Draw a Phillips

curve.

o @ e TR @ goE = 9|

What is the natural rate of

unemployment ?

R eligfoe 2 fe?

() Distinguish between fixed exchange rate
and flexible exchange rate.
31 R 21 wie TR Riw g o
A1 (YAl |
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(g) What are the determinants of business
 fixed investment, according to Keynes ?

@2 e PR %9 RiAwiss Fdsemg
e

(h) What is liquidity trap? State the
relationship that exists between
liquidity preference and rate of interest.

©IFET T 5?2 ©IFeD. A B e 299 Aeo
A Tl S 4 |

3. Answer any four of the following questions :
5x4=20

(a) Discuss briefly the circular flow of
income in a two sector economy.

l-eTe 9s e sa ez T
SIS 31|

(b) What are the components of aggregate
demand function ?

WWW@W%%?
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()

(@)

(e)

(9)
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State the factors that determine the
slope and position of the IS curve.

IS (RRITETH blef Wi SRrgie il =i
TCAMITTR S 4 |

Explain the effect of cut in taxes on
the level of income, using the IS-LM
curves. :

oy [Ndigee 39 gv" 2o e A IS-LM
FbaT TS [ T |

Explain the trade-off between inflation

and unemployment.

A i R e AR 7215 il
ST

Briefly discuss the demand-pull theory
of inflation.

mmmwemmw

=

Write brief notes on the different types

of investment.
Gl Rifen dem Racn 53 Grel e

Cont4d.



.(h) Explain the relationship between
speculative demand for money and rate
of interest.

T TP IR S 3 I A TE
IR <4 |

4. Answer any four of the following-questions :
10x4=40

@ﬁ@fﬁﬂ'ﬁk@ﬂﬂfﬁ#ﬁ? oig Teq T ¢

(a) State the conditions of equilibriﬁm of
an economy. Explain the short-run
equilibrium of an economy using
aggregate demand and aggregate supply
approach. 2+8=10
IS G CIFIRTeR TR GrEd 4|
i Bifnl O ANES @i e R
R SIS 94T ZFETH SR il |

(b) Discuss the features of IS and LM
curves. -Explain the determination of
§qu11;br1um rate of interest and level of
income with the help of IS-LM curves.

4+6=10
IS W6 LM (341 (@ ERR Sicefsal 1 | 1S
i LM @ 2T ey g g9 S
S IR fRdfae g <
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(c)

(d)

(e)

How is the LM curve affected by the
change in the supply of money and the
demand for money? Explain with a

diagram.

qﬁﬁ(ﬂﬁﬁavmargmasﬁ%ﬂaoﬁ?raaemﬁLAA
@eE [ eeiite 22 fogw 7=me i
el

Explain the different measures to

‘control 1nﬂat10n

gﬁvﬁﬁlﬁh@maﬁﬁlﬁﬁwmwﬁiameaml

Discuss the effects of inflation on

production and distribution.

Terilne Ol Rowel ¢%v® TUrFifed deike
R = 4

What is inflationary gap? Explain
inflationary gap with a diagram. How
can the inflationary gap be wiped out ?

‘ | 2+5+3=10

ErRIR T 2 Bag e @rFifey e
IR 91 | AT P (TS ONesi AR e
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(g9 How is the IS curve derived from goods OPTION-B
market in open economy ? Explain with L :
. ~ (Insurance and Risk Management)

diagram. :

o ST T TGRO IS FIOA (FEH Paper : COM-HG-2026

wiizEe T 28 e Ba R TR A 1. Answer any ten questions of the following

(h) Discuss the cash balance approach of as /directed . Ix10=10

the quantity theory of money. How is it CICRICRIEICEI ERIREE ERES RreleT wabl 9%

superior to the transactions approach Ted A ¢ ‘

of the quantity theory of money? \ : :

Explain. 6+4=10 (@ In which year Life Insurance
Corporation of India came into effect ?
Ol SR SN ot RFT BT sl (=i 2

i ARSI ©gF T (ST S ST :
41| @R AR OEF FHCH A0 '
(T TeGB2 ! | ' (b) State whether the following statement
(i) Discuss Keynes’s reformulation of the igiauic o.r False
o e A B 9w @ Sem B e

quantity theory of money. How is it
superior to the traditional quantity

Insurable risk can be predicted.

thenry of ok Scaiel Rt S A TR AR
R AR 9E @eTe R e R
S 391 | SRRl e AR we@3 3 (c) Loss control involves identifying.
(@I TEFE? i e = FagR 97e Tee |
. () Risk (Rom o)
() Critically discuss Tobin’s portfolio (i) Control (Fzet)
balance approach to demand for money. i) Profit (771
SifwE Bfea Abwlerer @ 05 (iij) Profi :
kS : . ; : (iv) Market (TETH)
g ZT | (Choose the correct alternative)
: (g [eaeo! > leTed)
Contd.
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(d) Write one example of Regulatory () In which year was Insurance Act ;

Framework of Insurance. : passed ?
T P AT Sl @b Sl | S iz (PR b T w4 (2
e) State whether the following statement 7 ' :
(e is True or False : s i ‘ (h) State whether the following statement
o R is True or False :
R I FE wFm @ SeT B ® j 'o
| | oo A S wm @ S Bl
Workers strike is an external risk. : ' ' : t concerned with
v % Lo ' .+ Hull insurance 1s no
_35‘-{!515 SRS ERGISIEIS ﬁ‘?m T | | _ the insurance of ships.
(f) In which of the following years, Bombay | GRIEAE <1 A wiRE T TS A AR

Mutual Life Insurance Society started
its business in India ? '

| OIS RIS, (JICT OCNZO R Giee i AN
(Pl 5T® SINE (2f%e 2

A serious and immediate danger 18

called : .
Bl BRI S ST AT (PRI 8

(1)

———— -

() 1870 | () Hazard
(i) 1871 | _ (i) Peril
SITEN | ' s T
(iii) 1872 (1ii) Loss
Sray (ETHI
(iv) 1873 | (iv) Risk
e R ¢ alternative)
(Choose the correct alternative) e %Zﬁ% Bferad)
(%% [eses! 5 Gfivean) % ¥
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0)

(k)

()

Write full form of IRDA.
IRDAS 2j¢f e{to! 12l |

State whether the following statement
is True or False :

OO A P T @ ST o o

A life insurance policy is issued for five

years.

bl G 1 I 5115 %9 103 TR < 27 |

In WhiCh year the Malhotra Committee
was formed by Government of India to
study whether the insurance sector
should be opened for private player ?

YIRS b TR Jfoe A1 A (G
b 280 27, 42 R e SR ey
0 1o (hoar sRfser?

() 1991 (555))

(it) 1992 (555%)

(i) 1993 (5559)

(tv) 1999 (555)

(Choose the correct alternative)

(%% [Femr a5 Gaeq))
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(m) State whether the following statement

(o).
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is True or False :

54 I FIF wT @ ST e

Insurance help businessman to

concentrate their attention on business.

IS AT AR R (R Tl
FUITS TS T T |

State whether the following statement

is True or False :
T A T wEm @ Som e

Insurance like fire and marine

insurance are contract of indemnity.

SN S T 7 PR Fhesd e |

State whether the following statement
is True or False :

O I FfF v @ wwm e
Globalization has also caused

immigration numbers to rise.

Aefme 1Y s (oIERRITEe <Ot R |
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Dn

Answer any five questions of the following

in about 50 words each : 2x5=10 -

Wﬁzaswpﬁ*sﬁr mmmeoﬁmw
fooge Ted T4 3

(a) Define r_isk.
il Sas EiNc R el

(b) State the meaning of Hedging.
2fSisa o fora |

(c) What is meant by health inéurance el
F I Jferea [ g e

(d) Give the meaning of negligence.

wrzee o @i

(e) Define Actuaries.

T PO K@ |

() What is surrender value of policies ?

AT TS o Ro

(g) Write two features of IRDA.

IRDA-3 75/ My fopa |
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(h) What is meant by insurable interest ?

Tiisy w9 3 & q@me

Answer any four questions of the following
in about 150 words each : Sx4=20

o [l BIfShr 2] STORE oW SGoBt W
g oo Geg 79 3

(a) Briefly describe the different types of
risk.

_%Wﬁ%%iﬁ%%ﬂ@l

(b) Write the difference between life
insurance and fire insurance.

G T o i T A 4l AR
ferat |

(c) Mention five features of marine
insurance.

ETRIT #isor aE T /101

(d) State any five functions of Actuaries in
life insurance. '

G N T FET RAIAT A55! Pt
ferit|
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(e) Discuss briefly importance of risk (b) Describe various needs of insurance.
management. :
SINSREICE SHFFOAR. AT T |
ol Siiisl 2IRBIERR @Y 5 SNEs 341 | s
‘ehligh _ (c) Discuss certain impact of globalisation
7 ﬁlc Ilg E agnglgve points of IRDA in insurance sector.
egulation,
I A (FA© CIFTEIRTR el ﬁsg:m
IRDA o 2019= Rz ooy o 4
RN B |
(o) Write any five differences between (d) Define 11.‘181.11'8_1'106. Dlscu_ss different
re-insurance and co-insurance. types of insurance. 2+8=10
A A N IS IS ASre A1 Rigpiea 2ffs! I el e | R ereea i R s
oM o7 | _ ; |
(h) State five objectives of insurance. (e) Critically examine various factor
9 96T Soaly Tl | affecting risk. From where these

information of risk is obtained ?
8+2=10

e SIS gel coitaRl ’ifen Soimimg

4. Answer any four of the following questions

in about 600 words each : 10x4=40
IR 2TRs R 55 o woob! T X NICAIP (G P | R R iz

fSoge Taq 4 ¢ O 9 29 e 9 W2

(f) Discuss the power and functions of
IRDA.

IRDA-] 59| 9IS I S5 51 |

(a) Explain the different sources of risk in
business.

TS oM S Rin Geoprg i 4|



'(g). 'Elaborate various steps of risk .
" management.

ﬁmwmﬁﬁmmﬁﬁ%wmwﬁ
o fen :

(h) Describe different pr1nc1p1es of
insurance contract.

i e RRom R ST <=

(i) Write a note on Regulatory Framework
of Insurance. '

F Fages) IR0 o1 8o o1 (B forall |

() What is risk ? How risk is determined
in life insurance ? Discuss.. 2+8=10

Rl S 752 Sig Te Rl gt e
Rfr = A 4
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